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Questions 1 to 20 carry 2 marks each. For-each question, four options are
given. One of them is the correct answer. Make your choice (1.2, 3 or 4).
Shade the oval (1,2, 3 or4) on the Optical Answer Sheet.

(Total: 40 marks)

1. 4 thousands + 13 hundreds + 9 teng =
(1) 4139 (2) 4220

(3) 4239 o 4) 5390

2. Which.one of the following is netequal to 37042

(1) 3000+700+4
(2)  200'more than.3604
(3) 200 less than 3904

4) 3 thousands,':;'ﬁhu_ﬁdr_édsiénd_"t ones

3. 1661 is | greater than 1561.
(1) 10 ) 100
{3) 1000 4) 10000
4. What is tﬁ,g.mis;;ing;,nqmber in the blank below?
6789, 6579, 6269 . S, 5349
(1) 5859 () 5959
(3) 6059 (4) 6159




What is the sum of 4512 and 22017 -

1y 2211 (@) - 2311
(3) 6313 (4) 6713

Daniel collected 2 times as’ many:stamps as Ethan.

‘Furong collected 1585 more stamps than Daniel.

If Daniel collected 820 stamps; : how many fewer stamps did Ethan
collect than Furong? '

(1) 1995 ()i 24057
(3) 2815 @) 3835

"o

Some adults took part-in-a triathion.

There were 1432 female participants and 321 more male participants
than female participants.

How many patticipants were there: altogether?

1) 1753 (2) 2185
(3) 2543 (@) 3185

Steven.gave out 789 ﬂyers;pf[i‘;}_\_;l}x_le’,dr_.\gsday and 135 fewer flyers on
Thursday than on Wednesday. .- S o '

How many flyers did he give-out on Bdth.days?

(1) 654 2) 924
(3) 1443 4) 1613



10.

11.

12.

What is the difference between 1256 .a_md 34687

(1) 2192 )
(3) 4614 (4)

Storekeeper A sold 5532 magazines.

2212
4724

He sold 3278 more magazines than Storekeeper B.
How many magazines.did Storekeeper B sell?

(1) 2254 (2
(3) 2346 (4

Study the number patteri]f'l_iélogg_.}- What is'the. missing, number?

2,8,32, 128,

(1) 256 (2)
(3) 1024 (4)

What is the product of 112 and 77

1) 16 | @)
(3) 784 (4)

2264
8810

2048

512
1202

. 26
874




13. What is the missing digit in the box below?

2 7

o s T (2) -
@ 3 -4 4

14. Mindy had 131 green beads.
Sandy had ten times as many. green beads as Mindy.
How many more green beads did Sandy have than Mindy?

() 1179 @) 1221
@) 1310 @) 1441

15. Meiling has 756 bars of-cligcolate.
She wants to put 7 bars of.chocolate into each box. .
How many-of such boxes does she need?

(1 18 @ 1000
(3) 108 ) 180
46.  Ali wants to save a total of $628 in 8 months.

if he saves an equal-amount Qf;'mpﬁe’y. each month, how-mdch ust he.
save each month? -

(f) $103 (2) $116
(3)  $118 @ $126

17. Express 5009¢ in dollars and cents.

(1)  $5.00 (2). $5.09
(3) $50.09 . (4) $50.90



Liming paid $37.40 for a dress that was on sale.
The usual price of the dress was $89.30.
How much did she save?

(1) $51.90 ) $52.10

.

(3) $126.70 @ $141.20

Use the diagram below to. solve Questiens 19-and 20

.$29.80.

$35.00

Jasmine bought 2stiirts and 1 doll.
She gave the, cashzer two. ﬁfty-do!lar notes.
How much change did she recelve from the cashier?

()  $19.75 | " (2) . $49.55
(3) $5045 _\,,(4{)’_ $80225

The bag cost-as:mich as the. total cost of 1 -pair of shoes and 1 shirt.
How much did the- bag cost?

(1) $30.15 R (2)  $50,45.
(3) $5565 © . (4)  $64.80°




Section B
Questions 21 fo 40 cany 2 marks each. Show your. warking clearly in the
space below each question and write your answ ers. in the‘spaces-pro\:ided.
For questions which require units, give your answersin the units stated.

. (Total: 40 marks)

21.  Write 7829 in words in the spécéf below.

22.  Arrange the foliowing numbers below in descending order..

2689 , 2968 , 2986 2698 . .

Answer . _ e '

23. 1234 + 2345 + 3456 = 7600 + + 5

Answer-:

24. AandB representadsgnt :

Find the digits fepresented by A'and B.

=~
-

"Answer A

B:




25. Janice baked 4761 cupcakes.
She baked 1245 more cupcakes than Karen.
How many cupcakes did they bake altogether’?

A oo peme s
ANSWET .

26. In a town, there are 2497 men and: 79 fewer women than menn.
if there are 885 more cmidren than women in the town, how man)
children are there?

27. There were 3769 passengers ona. tram approachmg Station X.

231 passengers got off at Station X and no passengers boarded it.
If another 1267 passengers got off at Station Y and 584 passengers

boarded the train at Station Y, how many,passengers were on the train
when it left Station Y?

Answer :




28.

N
©

30.

Suzte gave Joanne 169 pens
She gave Adam thiice the fiUiTIDET O

If Suzie had 1074 pens at first, how many pens did she have left in the
end?. T

l--n - e
LI 9avc= JUATINES .

Answer : .

E4

Taiior iLee piaced 5138 nuuons in uontalner A and 21 Bg'bui*ons in

Container B.
Atfter he transferred- 568" buttons from Contalner I to Contalner A; what

was the difference betweeni’ the ‘number of buttons in the two
containers in the end? .

Answer:

| am thinking of a number S
When it is divided: by 6 ttie quotient i is 31 and the remainder is 2.

What is thé number that jam tmnklng of?

Answer :




31.

32,

33.

Shelia bought 19 boxes of doughnuts for a party.
There were 8 doughnuts in each box.
Each of her guests ate 4 doughnuts.

If no doughnuts were left at the end

of the pariy, how many guests
were there? '

Answer :
Bufan has 9 containers.
‘He puts 401 cookies in each container.:
How many cookies are there altogether?

Answer :

Jeremy wanted to build 3 model planes for his cousins and 4 model
planes for his parents.

If he needed to use 864 building. blocks to build 6 model planes, how
many building blocks would he need to build all his model planes?

Answer




34.

35.

'36..

There are 483 pebbles in the garden,

There are twice as many black pebbles as grey pebbles and twice as
many white pebbles as black pebbles in the garden.
How many more white pebbles than grey pebbles are there?

Answer :

Mr Tan is taking 317 children to the Singapore Science Centre.
Each mini-van can seat 9 children and each bus can seat 30 children.

If there are only 9 buses available, what is the smallest number of mini-
vans needed? '

Answer :

There were 180 pins.
Zhiming put them in red boxes and blue boxes.
Each red box contained 4 more pins than each blue box.

:There were 5 red boxes and 3 blue boxes.

How many pins were there in one blue box?

Answer :

10



37.  Use the digits in the box below to. form the smallest 4-digit odd number.
Each digit-can be used only once.

9.5,6,2,3

 Answer :

38. Alex pumped $28 wor’th of petrol and bought a packet of potato chips
for $2.90.

He recéived $9.10 as. change after: paylng the cashler.
How much did he give the cashler?

; "ﬁhs_wer - %

39. After buying an MP3 player, MrLee had:$38 left.
How much money did he haveé at first?

MP3:player: $296.75

Answer : $

11




40. Danielfe had $15.90 atfirst. =~
After she had purchased her lunch, she ‘was left with the amount as
shown in her purse below. '
How much did she spend on her lunch?

| Answer 1 $ -

12

I I



Section €

Questions 41 to 45 cérry 4 marks each. Do these wor
- Show your working clearly in.the space provided helow e

41.  Paul has $67.30. He has $4.90 iess than Queenie.

d problems carefu{{.y.- :
ach question.
(Total: 20 marks)

Raymond has the same amount of money as Queenie.

How much money do they have in.all?

42.  Shanti went for a 1-week holiday at the beach.

On the first day, she collected 14 shells from the beach.

For the rest of the. days that she was there, she
number of shells as the day before. )

How many shells did she callect on the fifth day?

13

collected twice the




43.

44,

Two years ago, Jackie's age was-half of Rina’s.
Susan is 31 years old now and she is 9 years older than Rina.
How old is Jackie now?

Julie bought some bags of flour for her bakery

She used 16 bags of fiour each day from Monday to Frlday and 18
bags of flour each day on Saturday and Sunday.

After a week, she had 45 bags of flour left.

How many bags of flour did she buy at first?

14



Rose had 4200 stamps and Chun Li had 1800 stamps.

Rose gave 2000 stamps to her father.

How many stamps must Rose give Chun Li so that both of them have
the same number of stamps in the end?

© End of Paper @
Please Check Carefully

15




SCHOOL : NANYANG PRIMARY
SUBJECT : PRIMARY 3 MATHEMATICS

TERM : SAl1

Q1] Q2 -Q3 04| 051 Q6 | Q7 | Q8 Q9 | Q10 Q11

012[013]Q14]0Q15] Q16! Q17

4 2 2 1 4 1 4 3 2 1 2

Q18 Q19 Q20

1 1 4

. '21)Seven thousand, eight hundred and twenty-nine

23)30 24)A: 5 B: 9 25)8277 26)3403
28)398 29)2125 30)188 31)38
33)1008 34)207 35)6 36)20
38)$40 39)$334.75 40)$10.30

41)$67.30 + $4.90 = $72.20
$72.20 + $72.20 + $67.30 = $211.70
They have $211.70 in all. '

42)she coliected 224 shells on the fifth day.

43)22 -2 =20
20+-2=10
10+ 2=12
Jackie is 12 years old now.

44)16 x5 = 80
18 x2 =36
80 + 26 + 46 = 161
She bought 161 bags of flour at first.

45)4200 — 2000 = 2200
2200 — 1800 = 400
- 400+ 2=200
Rose must give Chun Li 200 stamps.

22)2986,2968,2698,2689

27)2855
32)3609

37)2359







